Laredo College Grade Distribution by Course & Discipline Totals by Department SSII 2018

	# of	Total	A'	s		B's		C's		D's		P's		NP's		F's		I's	1	NC's	V	W's
Departments	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Allied Health	2	21	8	38.10%	3	14.29%	9	42.86%	1	4.76%												
Art	5	123	53	43.09%	53	43.09%	15	12.20%													2	1.63%
Business and Management	5	32	15	46.88%	8	25.00%	3	9.38%							5	15.63%					1	3.13%
CIS/Electronics/CAD	2	33	10	30.30%	6	18.18%	9	27.27%	2	6.06%					5	15.15%					1	3.03%
English	13	223	99	44.39%	48	21.52%	33	14.80%	10	4.48%					21	9.42%			3	1.35%	9	4.04%
Foreign Languages	2	21	11	52.38%	8	38.10%	2	9.52%														
Industrial Trades	4	48	11	22.92%	32	66.67%	5	10.42%														
Kinesiology	9	210	179	85.24%	23	10.95%	6	2.86%							2	0.95%						
Mathematics	14	188	86	45.74%	42	22.34%	26	13.83%	4	2.13%					13	6.91%			3	1.60%	14	7.45%
Performing Arts	5	110	54	49.09%	38	34.55%	14	12.73%	1	0.91%					2	1.82%					1	0.91%
Protective Services	2	9	5	55.56%	1	11.11%			1	11.11%					2	22.22%						
Reading and Communications	2	41	4	9.76%	8	19.51%	6	14.63%	5	12.20%					8	19.51%					10	24.39%
Science	20	333	96	28.83%	110	33.03%	67	20.12%	17	5.11%					11	3.30%					32	9.61%
Social & Behavioral Sciences	36	617	261	42.30%	178	28.85%	115	18.64%	21	3.40%					30	4.86%					12	1.94%

Total All Departments 121 2,009 892 44.40% 558 27.78% 310 15.43% 62 3.09%	99 4.93%	6 0.30% 82 4.08%
---	----------	------------------

Success Rate (Grades A,B or C):	1,760	87.61%
Passing Rate (Grades A,B,C or P):	1,760	87.61%
Failing Rate (Grades D,F,I,NP,NC,W):	249	12.39%
Retention Rate (Excluding W's only):	1,927	95.92%

	# of Total A's						(C's	I)'s		P's	N	P's	F	's		I's	N	C's	v	V's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						All	ied H	ealth I	Depar	tment												
Allied Health Department EMSP MSP 1163 Clinical Cardiology 0 0.00% 0																						
EMSP 1163 Clinical Cardiology	1	8	7	87.50%	0	0.00%	0	0.00%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total EMSP	1	L 8	7	87.50%	0	0.00%	0	0.00%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								MDC	A													
MDCA 1154 Med Asst Crednting Exam Revw	1	13	1	7.69%	3	23.08%	9	69.23%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total MDCA	1	13	1	7.69%	3	23.08%	9	69.23%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

9 42.86%

1 4.76%

0 0.00%

0 0.00%

0 0.00%

0 0.00%

0 0.00%

0 0.00%

8 38.10%

2

21

3 14.29%

Total Allied Health

		# of	Total		A's		B's		C's	D	's]	P's	N	P's]	F's		I's	N	C's	V	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

							Art	Depar	tmen	t												
								ARTS	5													
ARTS 1301 Art Appreciation	5	123	53	43.09%	53	43.09%	15	12.20%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	1.63%
Total ARTS	5	123	53	43.09%	53	43.09%	15	12.20%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	1.63%
Total Art	5	123	53	43.09%	53	43.09%	15	12.20%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	1.63%

								~		~		~ .		-							_	~		
			# of	Total		A's		B's		C's		D's		P's	N	IP's		f's		I's	N	IC's		W's
Di	scipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Business and Management Department

								ACC'	Т													
ACCT 2401 Principles of Accounting I	1	18	7	38.89%	3	16.67%	3	16.67%	0	0.00%	0	0.00%	0	0.00%	4	22.22%	0	0.00%	0	0.00%	1	5.56%
ACCT 2402 Principles of Accounting II	1	10	4	40.00%	5	50.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	10.00%	0	0.00%	0	0.00%	0	0.00%
Total ACCT	2	28	11	39.29%	8	28.57%	3	10.71%	0	0.00%	0	0.00%	0	0.00%	5	17.86%	0	0.00%	0	0.00%	1	3.57%

BMGT																					
BMGT 1301 Supervision	1	1	1 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
BMGT 2303 Prob Solving Decison Making	1	1	1 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total BMGT	2	2	2 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
OSHT																					
OSHT 2309 Safety Program Management	1	2	2 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total OSHT	1	2	2 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

	# of	Total		A's		B's		C's		D's]	P's	N	IP's]	F's		I's	Ν	IC's	v	W's
Discipline Descri	ption Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

						CIS/Ele	ctroi	nics/CA	D De	partmo	ent											
								COSC	2													
COSC 1301 Introduction to Computing	2	33	10	30.30%	6	18.18%	9	27.27%	2	6.06%	0	0.00%	0	0.00%	5	15.15%	0	0.00%	0	0.00%	1	3.03%
Total COSC	2	33	10	30.30%	6	18.18%	9	27.27%	2	6.06%	0	0.00%	0	0.00%	5	15.15%	0	0.00%	0	0.00%	1	3.03%
Total CIS/Electronics/CAD	2	33	10	30.30%	6	18.18%	9	27.27%	2	6.06%	0	0.00%	0	0.00%	5	15.15%	0	0.00%	0	0.00%	1	3.03%

		# of	Total	1	A's		B's		C's		D's		P's	N	P's		F's		I's	N	[C's	v	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

English Department

ENGL

								ENGI														
ENGL 1301 Composition I	1	18	9	50.00%	2	11.11%	2	11.11%	2	11.11%	0	0.00%	0	0.00%	2	11.11%	0	0.00%	0	0.00%	1	5.56%
ENGL 1302 Composition II	2	35	26	74.29%	6	17.14%	1	2.86%	0	0.00%	0	0.00%	0	0.00%	2	5.71%	0	0.00%	0	0.00%	0	0.00%
ENGL 2327 American Literature I	1	18	12	66.67%	4	22.22%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	5.56%	0	0.00%	0	0.00%	1	5.56%
Sub-Total (On-Campus)	4	71	47	66.20%	12	16.90%	3	4.23%	2	2.82%	0	0.00%	0	0.00%	5	7.04%	0	0.00%	0	0.00%	2	2.82%
ENGL 1301 Composition I	1	20	8	40.00%	1	5.00%	3	15.00%	1	5.00%	0	0.00%	0	0.00%	6	30.00%	0	0.00%	0	0.00%	1	5.00%
ENGL 1302 Composition II	4	67	34	50.75%	14	20.90%	12	17.91%	3	4.48%	0	0.00%	0	0.00%	4	5.97%	0	0.00%	0	0.00%	0	0.00%
ENGL 2327 American Literature I	2	34	4	11.76%	12	35.29%	9	26.47%	2	5.88%	0	0.00%	0	0.00%	5	14.71%	0	0.00%	0	0.00%	2	5.88%
ENGL 2328 American Literature II	1	18	6	33.33%	6	33.33%	3	16.67%	2	11.11%	0	0.00%	0	0.00%	1	5.56%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (Distance-Ed)	8	139	52	37.41%	33	23.74%	27	19.42%	8	5.76%	0	0.00%	0	0.00%	16	11.51%	0	0.00%	0	0.00%	3	2.16%
Total ENGL	12	210	99	47.14%	45	21.43%	30	14.29%	10	4.76%	0	0.00%	0	0.00%	21	10.00%	0	0.00%	0	0.00%	5	2.38%
								INRW	V													
INRW 376 Integrated Rdg Wrtng III	1	13	0	0.00%	3	23.08%	3	23.08%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	23.08%	4	30.77%
Total INRW	1	13	0	0.00%	3	23.08%	3	23.08%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	23.08%	4	30.77%

33 14.80%

10

4.48%

0 0.00%

0 0.00%

21 9.42%

0 0.00%

3 1.35%

9 4.04%

Total English

13

223

99 44.39%

48 21.52%

		# of	Total		A's		B's		C's		D's		P's	N	P's]	F's		I's	N	IC's	Y	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Foreign Languages Department SPAN 22.22% SPAN 2311 Intermediate Spanish I 22.22% 5 55.56% 2 0 0.00% 0 0.00% 0.00% 0.00% 1 9 2 0 0.00% 0 0.00% 0 0.00% 0 0 SPAN 2312 Intermediate Spanish II 1 12 9 75.00% 3 25.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% Total SPAN 2 21 11 52.38% 8 38.10% 2 9.52% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% **Total Foreign Languages** 2 21 11 52.38% 8 38.10% 2 9.52% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00%

		# of	Total		A's]	B's		C's]	D's	j	P's	N	IP's]	F's		I's	N	C's	v	N's
Discipline D	Description S	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Industrial Trades Department WLDG WLDG 1435 Introduction to Pipe Welding 23.08% 73.08% 1 3.85% 0 0.00% 0 0.00% 0.00% 2 26 6 19 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 WLDG 2451 Adv Gas Tungsten Arc Welding 2 22 5 22.73% 13 59.09% 4 18.18% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% Total WLDG 4 48 11 22.92% 32 66.67% 5 10.42% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% **Total Industrial Trades** 4 48 11 22.92% 32 66.67% 5 10.42% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00% 0 0.00%

																				1		i l	
		# of	Total		A's		B's		C's		D's		P's	N	IP's		F's		I's	N	IC's		W's
Disciplin	e Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

						Ki	nesio	logy D	eparti	ment												
	KINE																					
KINE 1164 Intro Phycl Fitness Wellness	3	60	50	83.33%	8	13.33%	1	1.67%	0	0.00%	0	0.00%	0	0.00%	1	1.67%	0	0.00%	0	0.00%	0	0.00%
KINE 1238 Intro Physical Fitness Sport	3	60	47	78.33%	10	16.67%	2	3.33%	0	0.00%	0	0.00%	0	0.00%	1	1.67%	0	0.00%	0	0.00%	0	0.00%
KINE 1304 Personal Community Health	3	90	82	91.11%	5	5.56%	3	3.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total KINE	9	210	179	85.24%	23	10.95%	6	2.86%	0	0.00%	0	0.00%	0	0.00%	2	0.95%	0	0.00%	0	0.00%	0	0.00%
Total Kinesiology	9	210	179	85.24%	23	10.95%	6	2.86%	0	0.00%	0	0.00%	0	0.00%	2	0.95%	0	0.00%	0	0.00%	0	0.00%

		# of	Total		A's	B's			C's		D's		P's	N	IP's		F's		I's	N	IC's	V	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Mathematics Department MATH

								IVIA I														
MATH 301 Self Paced Devlopmntl Math	2	8	3	37.50%	2	25.00%	3	37.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MATH 304 Self Paced Intermediate Alg	2	16	7	43.75%	4	25.00%	1	6.25%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	18.75%	1	6.25%
MATH 1314 College Algebra	2	30	23	76.67%	2	6.67%	1	3.33%	0	0.00%	0	0.00%	0	0.00%	2	6.67%	0	0.00%	0	0.00%	2	6.67%
MATH 1325 Calculus For Bus and Soc Sci	1	15	8	53.33%	5	33.33%	1	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	6.67%
MATH 2413 Calculus I	1	25	11	44.00%	3	12.00%	6	24.00%	1	4.00%	0	0.00%	0	0.00%	1	4.00%	0	0.00%	0	0.00%	3	12.00%
MATH 2414 Calculus II	1	15	14	93.33%	1	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MATH 2415 Calculus III	1	11	5	45.45%	1	9.09%	1	9.09%	1	9.09%	0	0.00%	0	0.00%	2	18.18%	0	0.00%	0	0.00%	1	9.09%
Sub-Total (On-Campus)	10	120	71	59.17%	18	15.00%	13	10.83%	2	1.67%	0	0.00%	0	0.00%	5	4.17%	0	0.00%	3	2.50%	8	6.67%
MATH 1314 College Algebra	1	12	1	8.33%	6	50.00%	2	16.67%	1	8.33%	0	0.00%	0	0.00%	1	8.33%	0	0.00%	0	0.00%	1	8.33%
MATH 1325 Calculus For Bus and Soc Sci	1	7	1	14.29%	1	14.29%	3	42.86%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	28.57%
MATH 1342 Elem Statistical Methods	1	22	3	13.64%	3	13.64%	6	27.27%	1	4.55%	0	0.00%	0	0.00%	7	31.82%	0	0.00%	0	0.00%	2	9.09%
MATH 1351 Fundamentals of Math II	1	27	10	37.04%	14	51.85%	2	7.41%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	3.70%
Sub-Total (Distance-Ed)	4	68	15	22.06%	24	35.29%	13	19.12%	2	2.94%	0	0.00%	0	0.00%	8	11.76%	0	0.00%	0	0.00%	6	8.82%
Total MATH	14	188	86	45.74%	42	22.34%	26	13.83%	4	2.13%	0	0.00%	0	0.00%	13	6.91%	0	0.00%	3	1.60%	14	7.45%
Total Mathematics	14	188	86	45.74%	42	22.34%	26	13.83%	4	2.13%	0	0.00%	0	0.00%	13	6.91%	0	0.00%	3	1.60%	14	7.45%

	# of	Total		A's	R	3's		C's	D	's		P's	N	P's	R	''s		I's	N	C's	Ň	V's
Discipline Description	Sects.	Enrollm	: #	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Perf	ormir	ng Arts	s Depa	rtmen	t											
								DRA	M													
DRAM 1310 Introduction to Theater	1	33		3.03%	22	66.67%	7	21.21%	1	3.03%	0	0.00%	0	0.00%	1	3.03%	0	0.00%	0	0.00%	1	3.03%
Total DRAM	1	. 33	1	3.03%	22	66.67%	7	21.21%	1	3.03%	0	0.00%	0	0.00%	1	3.03%	0	0.00%	0	0.00%	1	3.03%
								MUA	P													
MUAP 1261 Applied Guitar	1	4	. 4	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MUAP 1281 Applied Voice	1	. 3		3 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total MUAP	2	: 7	, ,	/ 100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								MUS	SI													
MUSI 1306 Music Appreciation	2	2 70	4	65.71%	16	22.86%	7	10.00%	0	0.00%	0	0.00%	0	0.00%	1	1.43%	0	0.00%	0	0.00%	0	0.00%
Total MUSI	2	2 70	4	65.71%	16	22.86%	7	10.00%	0	0.00%	0	0.00%	0	0.00%	1	1.43%	0	0.00%	0	0.00%	0	0.00%
Total Performing Arts	5	5 110	5	49.09%	38	34.55%	14	12.73%	1	0.91%	0	0.00%	0	0.00%	2	1.82%	0	0.00%	0	0.00%	1	0.91%

	# - E T	- 4 - 1	A 1-	Dt-	C's	DI-	DI-	NP's	Tri-	T 'a	NOL	XX71-
	# of Te	otal	A's	B's	Us	D's	P's	NP S	I S	1.8	NC's	W's
Discipline Description	Sects. Er	nrollmt #	# %	# %	# %	# %	# %	# %	# %	# %	# %	# %

Protective Services Department

								CRL	J													
CRIJ 2313 Correctnl Systms Practices	1	5	4	80.00%	1	20.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	5	4	80.00%	1	20.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
CRIJ 1307 Crime in America	1	4	1	25.00%	0	0.00%	0	0.00%	1	25.00%	0	0.00%	0	0.00%	2	50.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (Distance-Ed)	1	4	1	25.00%	0	0.00%	0	0.00%	1	25.00%	0	0.00%	0	0.00%	2	50.00%	0	0.00%	0	0.00%	0	0.00%
Total CRIJ	2	9	5	55.56%	1	11.11%	0	0.00%	1	11.11%	0	0.00%	0	0.00%	2	22.22%	0	0.00%	0	0.00%	0	0.00%
Total Protective Services	2	9	5	55.56%	1	11.11%	0	0.00%	1	11.11%	0	0.00%	0	0.00%	2	22.22%	0	0.00%	0	0.00%	0	0.00%

									a										I'e			l J		
		# of	Total		A's		B's		C's		D's		P's		NP's		f''s		I's	N	IC's		W's	
I	Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	

Reading and Communications Department

								SPCH	[
SPCH 1311 Intro to Speech Communicatn	1	21	3	14.29%	6	28.57%	4	19.05%	2	9.52%	0	0.00%	0	0.00%	1	4.76%	0	0.00%	0	0.00%	5	23.81%
SPCH 1315 Public Speaking	1	20	1	5.00%	2	10.00%	2	10.00%	3	15.00%	0	0.00%	0	0.00%	7	35.00%	0	0.00%	0	0.00%	5	25.00%
Total SPCH	2	41	4	9.76%	8	19.51%	6	14.63%	5	12.20%	0	0.00%	0	0.00%	8	19.51%	0	0.00%	0	0.00%	10	24.39%
Total Reading and Communications	2	41	4	9.76%	8	19.51%	6	14.63%	5	12.20%	0	0.00%	0	0.00%	8	19.51%	0	0.00%	0	0.00%	10	24.39%

		# of	Total	A			B's		C's		D's		P's		NP's		F's	I's		NC's		v	N's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Science Department BIOL

								BIOL														
BIOL 2101 Anatomy and Physiology I Lab	2	32	7	21.88%	14	43.75%	5	15.63%	1	3.13%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	5	15.63%
BIOL 2102 Anatomy Physiology II Lab	3	54	10	18.52%	24	44.44%	13	24.07%	0	0.00%	0	0.00%	0	0.00%	2	3.70%	0	0.00%	0	0.00%	5	9.26%
BIOL 2301 Anatomy and Physiology I	2	40	6	15.00%	12	30.00%	11	27.50%	3	7.50%	0	0.00%	0	0.00%	1	2.50%	0	0.00%	0	0.00%	7	17.50%
BIOL 2302 Anatomy and Physiology II	1	14	0	0.00%	7	50.00%	6	42.86%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	7.14%
Sub-Total (On-Campus)	8	140	23	16.43%	57	40.71%	35	25.00%	4	2.86%	0	0.00%	0	0.00%	3	2.14%	0	0.00%	0	0.00%	18	12.86%
BIOL 1106 Biol for Sci Majors I Lab	1	8	3	37.50%	0	0.00%	2	25.00%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	25.00%
BIOL 1108 Biol Non Sci Majors Lab I	1	17	3	17.65%	8	47.06%	2	11.76%	1	5.88%	0	0.00%	0	0.00%	2	11.76%	0	0.00%	0	0.00%	1	5.88%
BIOL 1306 Biology for Science Majors I	1	8	1	12.50%	4	50.00%	1	12.50%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	25.00%
BIOL 1308 Biol Non Science Majors I	2	41	7	17.07%	14	34.15%	7	17.07%	6	14.63%	0	0.00%	0	0.00%	6	14.63%	0	0.00%	0	0.00%	1	2.44%
BIOL 1322 Nutrition and Diet Therapy	1	7	0	0.00%	1	14.29%	3	42.86%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	3	42.86%
BIOL 2302 Anatomy and Physiology II	2	48	26	54.17%	7	14.58%	7	14.58%	3	6.25%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	5	10.42%
Sub-Total (Distance-Ed)	8	129	40	31.01%	34	26.36%	22	17.05%	11	8.53%	0	0.00%	0	0.00%	8	6.20%	0	0.00%	0	0.00%	14	10.85%
Total BIOL	16	269	63	23.42%	91	33.83%	57	21.19%	15	5.58%	0	0.00%	0	0.00%	11	4.09%	0	0.00%	0	0.00%	32	11.90%
								GEOI														
GEOL 1101 Earth Sci NonSci Majrs I Lab	1	12	3	25.00%	6	50.00%	2	16.67%	1	8.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
GEOL 1301 Earth Sci Non Sci Majors I	1	21	11	52.38%	3	14.29%	7	33.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total GEOL	2	33	14	42.42%	9	27.27%	9	27.27%	1	3.03%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								PHYS	5													
PHYS 1102 College Physics II Lab	1	16	8	50.00%	6	37.50%	1	6.25%	1	6.25%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	16	8	50.00%	6	37.50%	1	6.25%	1	6.25%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
																						· · · ·
PHYS 1302 College Physics II	1	15	11	73.33%	4	26.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
						26.6704	0	0.000/	0	0.000/	0	0.000/	0	0.000/	0	0.000/	0	0.000/	0	0.000/	0	0.000/
Sub-Total (Distance-Ed)	1	15	11	73.33%	4	26.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

67 20.12%

17

5.11%

0 0.00%

0 0.00%

11 3.30%

0 0.00%

0

0.00%

32

9.61%

Total Science

20

333

96 28.83%

110 33.03%

								,	Jugust	<i>,</i>												
	# of To	otal	1	A's	I	's	c	."s	D	's		P's	N	IP's	F	''s		I's	N	C's	W	/'s
Discipline Description	Sects. Er	nrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
					Soci	al & Be	havi			s Depa	rtm	ent										
								ECO	N													
ECON 2302 Principles of Microeconomics	1	37	13	35.14%	14	37.84%	9	24.32%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	2.70%
Total ECON	1	37	13	35.14%	14	37.84%	9	24.32%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	2.70%
								GOV	т													
GOVT 2305 Federal Government	3	57	31	54.39%	14	24.56%	10	17.54%	0	0.00%	0	0.00%	0	0.00%	2	3.51%	0	0.00%	0	0.00%	0	0.00%
GOVT 2306 Texas Government	3	49	21	42.86%	11	22.45%	16	32.65%	1	2.04%	0	0.00%	0		0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	6	106	52		25	23.58%	26	24.53%	1	0.94%	0		0		2	1.89%	0	0.00%	0	0.00%	0	0.00%
Sub Total (On Campas)	0	100	52	49.0070	20	23.3070	20	21.5570		0.9470		0.0070	0	0.0070	2	1.0770	0	0.0070	0	0.0070	0	0.0070
GOVT 2305 Federal Government	3	42	20	47.62%	14	33.33%	3	7.14%	1	2.38%	0	0.00%	0	0.00%	3	7.14%	0	0.00%	0	0.00%	1	2.38%
GOVT 2306 Texas Government	2	37	29	78.38%	4	10.81%	2	5.41%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	5.41%
Sub-Total (Distance-Ed)	5	79	49	62.03%	18	22.78%	5	6.33%	1	1.27%	0	0.00%	0	0.00%	3	3.80%	0	0.00%	0	0.00%	3	3.80%
Total GOVT	11	185	101	54.59%	43	23.24%	31	16.76%	2	1.08%	0	0.00%	0	0.00%	5	2.70%	0	0.00%	0	0.00%	3	1.62%
								HIST	[
HIST 1301 United States History I	3	35	15	42.86%	12	34.29%	6	17.14%	1	2.86%	0	0.00%	0	0.00%	1	2.86%	0	0.00%	0	0.00%	0	0.00%
HIST 1302 United States History II	2	44	30	68.18%	9	20.45%	3	6.82%	0	0.00%	0	0.00%	0	0.00%	1	2.27%	0	0.00%	0	0.00%	1	2.27%
Sub-Total (On-Campus)	5	79	45	56.96%	21	26.58%	9	11.39%	1	1.27%	0	0.00%	0	0.00%	2	2.53%	0	0.00%	0	0.00%	1	1.27%
HIST 1301 United States History I	3	69	12		21	30.43%	18	26.09%	6	8.70%	0		0		9	13.04%	0	0.00%	0	0.00%	3	4.35%
HIST 1302 United States History II	3	43	22	51.16%	10	23.26%	4	9.30%	5	11.63%	0	0.00%	0		1	2.33%	0	0.00%	0	0.00%	1	2.33%
Sub-Total (Distance-Ed)	6	112	34	30.36%	31	27.68%	22	19.64%	11	9.82%	0	0.00%	0		10	8.93%	0	0.00%	0	0.00%	4	3.57%
Total HIST	11	191	79	41.36%	52	27.23%	31	16.23%	12	6.28%	0	0.00%	0	0.00%	12	6.28%	0	0.00%	0	0.00%	5	2.62%
								PSYC	r													
PSYC 2301 General Psychology	2	40	18	45.00%	16	40.00%	3	7.50%	1	2.50%	0	0.00%	0	0.00%	1	2.50%	0	0.00%	0	0.00%	1	2.50%
PSYC 2314 Life Span Growth and Dev	2	25	13	52.00%	7	28.00%	3	12.00%	2	8.00%	0	0.00%	0		0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	4	65	31	47.69%	23	35.38%	6	9.23%	3	4.62%	0		0		1	1.54%	0	0.00%	0	0.00%	1	1.54%
		00		1110270	20	5515670		712070	5	110270		0.0070	0	0.0070		110 170		0.0070		0.0070	-	1.0 170
PSYC 2301 General Psychology	2	26	8	30.77%	8	30.77%	5	19.23%	1	3.85%	0	0.00%	0	0.00%	4	15.38%	0	0.00%	0	0.00%	0	0.00%
PSYC 2314 Life Span Growth and Dev	2	25	15	60.00%	3	12.00%	3	12.00%	0	0.00%	0	0.00%	0	0.00%	4	16.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (Distance-Ed)	4	51	23	45.10%	11	21.57%	8	15.69%	1	1.96%	0	0.00%	0	0.00%	8	15.69%	0	0.00%	0	0.00%	0	0.00%
Total PSYC	8	116	54	46.55%	34	29.31%	14	12.07%	4	3.45%	0	0.00%	0	0.00%	9	7.76%	0	0.00%	0	0.00%	1	0.86%
								SOC	I													
SOCI 1301 Introduction to Sociology	1	7	1	14.29%	4	57.14%	2	28.57%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	7	1	14.29%	4	57.14%	2	28.57%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

	# of	Total		A's		3's		C's	Ι	D's		P's	N	P's]	F's		I's	N	C's		W's
cipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
tal All Departments	121	2,009	892	44.40%	558	27.78%	310	15.43%	62	3.09%	0	0.00%	0	0.00%	99	4.93%	0	0.00%	6	0.30%	82	4.08
Success Rate (Grades A,B or C):	1,760	87.61%																				
Passing Rate (Grades A,B,C or P):	1 760	87.61%																				
Tubbing Tube (Grudes Hybre of T).	1,700	0/101/0																				
Failing Rate (Grades D,F,I,NP,NC,W):	249	12.39%																				
Retention Rate (Excluding W's only):	1,927																					